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Question Type: Multiple Choice Questions. Choose and write the letter corresponding to the

correct answer.

1.1 Bacteria uses and to move. (D

A. cilia and flagella
B. cilia and legs

C. cilia and tails
D.

None of the above

1.2 Bacteria are single-celled microorganisms that belongs to the following type of

organisms; (1)
A. Prokaryotes

B. Eukaryotes

C. Yeast

D. Fungi

1.3 What is the smallest possible unit that exhibits all the characteristics of life? (1)

A. Monosaccharide
B. Virus
C. Cell

D. Cell membrane

1.4 What are the seven characteristics of living things? (1)

A. movement, respiration, sensitivity, nutrition, excretion, reproduction, growth
B. movement, respiration, sensitivity, nutrition, excretion, reproduction, death
C. movement, respiration, sensibility, nutrition, excretion, reproduction, growth

D. movement, respiration, sensitivity, nutrition, excitement, reproduction, growth

1.5 Which of the following levels of organization is arranged in the correct sequence from

least to most inclusive? (D)
A. community, ecosystem, individual, population

B. ecosystem, community, population, individual

C. community, population, ecosystem, individual

D. individual, population, community, ecosystem




1.6 The following is an example of a biotic factor;
A. water
B. sunlight
C. plants
D. air

1.7 Plants get their energy from
A. decomposers
B. sunlight

C. consumers

D

. soil

1.8 Autotrophs are also known as
A. consumers
B. herbivores
C. producers
D.

omnivores

1.9 Food webs have the following characteristics;
A. They have more organisms involved.
B. They are more complex and involve lots of organisms.

C. It is a more complex of interconnected food chains in an ecosystem.

D. All of the above.

1.10 Which carbohydrate among the following is used during intense exercising?
A. starch
sucrose

fructose

O aw

glycogen

1.11 Which of the following is correct?
Sucrose is made of galactose and glucose.
Lactose is made up of glucose and fructose.

Lactose is made up of galactose and fructose.

caw»

Sucrose is made up of glucose and fructose.
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1.12 Which of the following is a function of insoluble fiber only? (1)
A. Regulating blood sugar.
B. Regulating the pH of the body.
C. Adding bulk to stool.

D. Lowering cholesterol.

1.13 Which of the following is false? (1)
Fats provide insulation.
Fats maintain healthy skin and hair.

Vitamin A, D, E and K are fat soluble only.

o ow»

Fats provide instant energy.

1.14 The following are the reasons why partially hydrogenated oils are used in the food
industry. Which one is untrue? (D)
A. Long shelf life
B. Less refrigeration required
C. Inexpensive
D. Healthy

1.15 How many water molecules are needed to hydrolyse a monomer with 20 monomers
long? (1)
A. 10
B. 40
C.5
D. 2

1.16 The yeast used for the production of Ale is; (1)
A. Saccharomyces carlsbergensis
B. Saccharomyces cerevisiae
C. Saccharomyces uvarum

D. Streptococcus thermophilus




1.17 Yeast is used to provide enzymes to convert; (1)
A. maltose to glucose
B. lactose to galactose
C. sucrose to fructose

D. lactose to glucose

1.18 In order to produce sweet wine; (1)
A. all the sugar must be converted to alcohol.
B. all the glucose must be consumed.
C. the fermentation process should be extended.

D. the fermentation process should be stopped before all sugar is used up.

1.19 Why do pastry chefs knead dough? (D)
A. to increase the production of carbon dioxide
B. to give it shape
C. to exercise

D. to stop fermentation

1.20 Alcoholic beverages can be divided into different classes. Which one of the following is
not a class in alcoholic beverages? (1)
A. beer

B. wine

C. yoghurt

D.

spirits

QUESTION 2 (10)
2.1 Explain why vitamin K is also known as the clot master. 2)
2.2 Contrast how fungi digest and absorb their food with your own digestion. (2)
2.3 Name and explain the two reproductive mechanisms in gymnosperms. 4)

2.4 State the 10 % Law and how does it explain why energy is referred to as an energy flow

and not an energy cycle. @)
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Question Type: Multiple Choice Questions. Choose and write the letter corresponding to the

correct answer.

3.1 Which of the following represents a value? (1)

A. Length of 50

B. 50 degrees Celsius
C. Volume of 50

D. Temperature of 50

3.2 Which one of the units is SI unit? (1)

A. Mol

B. Hour
C. g/em?
D. N

3.3 The error in a measurement can be calculated. Which of the following expression is used

to calculate the error in the measurement? (1)

A. The sum of accepted value and experimental value
B. The quotient of accepted value and experimental value
C. The product of accepted value and experimental value

D. The difference of accepted value and experimental value

3.4 Which one of the measurements have same significant figures? (D)
A. 1.43 and 0.04
B. 45 and 0.0739
C. 0.00506 and 2.00
D. 2.05and 9

3.5 Which of the instruments is used to measure weight? @)
A. Balance scale
B. Spring balance
C. Thermometer

D. Metric tape




3.6 All matter is composed of;
A. an atom
B. density
C. mass

D. volume

(D

3.7 Which of the physical properties of the substance depends on the amount of matter in the

sample?
A. Hardness of the sample
B. Melting point of the sample
C. Length of the sample
D.

The color of the sample

3.8 Decomposition of wood is classified as an example of;
A. Physical property
B. Chemical Property
C. Reactive Property

D. none of the above

3.9 Which of the statements describe a reverse sublimation?
A. Solid to liquid

B. Solid to gas

C. Gas to Solid

D. Gas to liquid

3.10 Which the following is a compound?

A. Na

B. Cl

C. NaCl

D. All the above

(1)

M
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3.11 The technique used to separate a mixture of substances based on their solubility within a

given solvent is;
A. Evaporation

B. Simple distillation
C. Chromatography
D

. Fractional distillation

M
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3.12 What is the name of the scientist who proposed that the electrons are arranged in orbits
around the nucleus of the atom and electrons move in a particular path have fixed

energy? (1)

A. Ernest Rutherford
B. JJ Thomson

C. Neils Bohr

D. John Dalton

3.13 Which of the statements describes the nature of a neutral atom of all elements in the
periodic table? (1)
A. The number of protons is equal to the number of neutrons
B. The number of protons is equal to the number of electrons
C. The number of protons is different to the number of electrons

D. None of the above
3.14 What is the charge and the location of the neutron of an atom? (1)

A. Positive and electron cloud
B. Positive and nucleus

C. zero and electron cloud
D.

neutral and nucleus

3.15 What is the name of the group in which atom of the elements gain one electron when

they form ion? (1)

A. halogens
alkali metals

alkaline earth metals

o 0w

noble gases

3.16 Which of the electronic configurations is for the element in group 8? (1)

2,8,6
2,81
283
2,88

oS ow»




3.17 Acid is defined as a substance that produces

solution. Which option completes the statement?

A. H20
B. OH"
C. H

D. Na*

3.18 What is the chemical name for Baking soda?

A. Sodium chloride
B. Sodium hydrogencarbonate
C. Sodium carbonate decahydrate

D. Sodium carbonate

3.19 A reaction between an acid and base is known as?

A. Acidification

B. Neutralization

C. Alkalinity

D. None of the above

when dissolved in aqueous

3.20 What is the color of phenolphthalein when added to the basic solution?

A. pink
B. yellow
C. blue

D. colorless

QUESTION 4: Structured questions

4.1 Apply the rule(s) of significant figures to calculate the following;

(i) 6.45x2.3,

(ii) 12.7899 - 2.27
4.2 Define the term Synthesis.
4.3 Copy and complete e the equation below;
-

Acid + Base

(D

ey

M

(1)

(15)

@)
()
M
(@)




4.4 (i) Answer the question by filling the missing information in the table.

Element Number of Number of Number of | Overall charge
protons Neutrons electrons
Element B 19 20 +1
Element C 16 15 0
Element D 8 8 6
(€)
(ii) State the element in the table which is a metal. (1)
(iii) write the electronic configuration of element C. (D)
4.5 State the difference between strong acid and weak acid. (2)
4.6 State one common alkali/base. (1)

SECTION
QUESTION 5

Question Type: Multiple Choice Questions. Choose and write the letter corresponding to the

(20)

correct answer.

5.1 Which statement is FALSE for line graphs? (1)
A. A slope may be an indication of how fast the line raises.
B. A slope may be an indication of how fast the line falls.
C. A slope is a value of extrapolation.
D.

A slope is another name for gradient.

5.2 The dependent and independent variables are being plotted on and ,

respectively. 1)
A. Horizontal and vertical axis

B. Vertical and y axis

C. Vertical and horizontal

D.

None of the above




5.3 Which of the following is not an application of Newton’s 3™ law of motion? (1)

A. A swimmer pushes the water backwards with their hands, and in return, the water
pushes the swimmer forwards, thus enabling him to go forward during swimming.

B. A man walking on the ground: While walking, a person pushes the ground in the
backward direction, and the ground in return pushes the person in the forward
direction, thus making them walk.

C. A bird, while flying, pushes the air downwards with the help of its wings. Consistent
with Newton’s third law of motion, the air makes the bird go upwards.

D. None of the above

5.3 Which one of the following is correct? (1)
A. A bar graph is the same as a histogram
B. To draw a line graph, simply join all the points plotted.
C. Pie charts are also known as 360°.
D.

A bar graph is well descriptive.

5.5 Given that an astronaut exert a force of 128 N on the moon and the gravitational field

strength on the moon is 1.6 N/kg. What is the mass of the astronaut in kg? (D

75
90
80
D. 65

0w »

5.6 Ifthe mass of the body is doubled and its acceleration becomes half, then the Net Force
will of the body will " €))
A. become double
B. remain the same
C. become half

D. become four times

5.7 When a net force is applied, the following can have an effect on the object except; (1)
A. No net change in the position of the object
B. Change (increase or decrease) the velocity of the object
C. Change the direction of the moving object

D. Change the shape of the moving object.




5.8 Which of the following is a renewable source of energy? (1)

A. Nuclear energy
B. Coal

C. Crude oil
D.

Geothermal

5.9 What is the main difference in the generation of electricity with water and nuclear

energy. (1)
A. Nuclear energy is a dangerous source of energy and hydroelectric power is safe

B. In nuclear energy fission of atoms heat water which turns the generator which
generator electricity while in hydroelectric energy, potential energy of water turns the

turbines which turns the electricity.

C. Hydroelectric power is a renewable source of energy while nuclear energy is non-

renewable source of energy.

D. All of the above.

5.10 During the ascent phase of a rep of the bench press, the lifter exerts an average vertical
force against a 5000-gram barbell while the barbell moves 0.8 m upward. How much work
did the lifter do to the barbell? Express your answer in kilojoules (kKJ). Assuming the

acceleration due to gravity (g) to 10 m/s?. ¢))

BENCH-PRESS

A.0.04 kJ
B.40kJ
C.04KkJ
D.4kJ

=

!
IZJ



5.11Which of the following statement is true about inelastic collision?
A. Kinetic energy before collision is equal to kinetic energy after collision
B. Kinetic energy before collision is grater than the kinetic energy after collision
C. Kinetic energy before collision is less than the kinetic energy after collision

D. The total kinetic energy conserved

5.12 The current in a wire

A. depends on the potential deference applied
B. depends on the resistance and potential difference of the wire
C. does not depends on the resistance and potential difference

D. depends on the resistance of the wire.

USE THE CIRCUIT DIAGRAM TO ANSWER QUESTION 5.13, 5.14 and 5.15

Boq

| I — >
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5.13 What is the resistance in parallel resistors?

38Q
40 Q
1.17 Q
1.71 Q

c 0o w >

5.14  The equivalence resistance is
A.40.12 Q
B.37.71 Q
C.38.00Q2
D. 48.00 Q




5.15 The total current at the 30 Q resistor is
A.0318 A
B.0.030 A
C.0250 A
D.0.300 A

(D

5.16 When polonium 239 undergo alpha decay, it changes to uranium 235 in a process known

as

A. transformation
B. fission
C. radioactivity

D. transmutation

5.17 Which of the following particle is the lightest by size

A. gamma ray
B. helium atom
C. Xrays
D.

an electron

5.18 What is the safest way to dispose of a large quantity of highly radioactive waste?

A. burying it in dry underground rocks
B. pouring it down the drain
C. burning it on a fire

D. pumping it into a river

(1)

)

(1)

5.19 A nuclide X decays to nuclide Y by alpha decay as illustrated by the nuclear equation;

03X — PPV +2§He

Nuclide X and nuclide Y are likely to be

ey

Nuclide X Nuclide Y
A Th-234 U-239
B U-238 Th-234
C U-238 Th-230
D U-238 Np-230
[ 14 )




5.20  Which of the following is a heavier radiation particle? (1)
A. gamma ray
B. Beta particle
C. alpha particle

D. neutron

QUESTION 6 (15)

6.1 Study the following pie chart to answer the questions. In total 50 000 vehicles were sold

by XYZ Auto Company in the year 1999.

Percentage of Vehicle Types that XYZ
Auto Company sold in 1983

4-DOOR SEDANS

25%

2-D00R SEDANS

(i) Calculate the total number of Trucks and SUV’s sold. 3)
(i) How many vehicles were 4-doors only? 2)

6.2 A cart at the top of a 300 m hill has a mass 0f 420 g.

<

(i) Assuming that the acceleration due to gravity is 9.8 m/s/s. What is the

cart’s gravitational potential energy? (2)

(i) Assuming that energy is conserved and there is no friction, calculate the

cart’s speed at the bottom of the hill. (3)




6.3 Construct a circuit diagram containing 3 resistors a, b, ¢ in parallel, resistors d and e in
series, with an ammeter and 2 cells in series with a conventional current and an open

circuit. (5)

END
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